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JiiEaR English translation
There are 5(f)k°ku gt 1 in the summer solstice.
We want to know the amount of water that can be measured day
and night.
Multiplying 5(f)keku by 6(BF)toki it will be 30(F)koku, Tt is the answer.
We multiply it by 10 and divide it by 4.
We define a day has 60(Xl)koku g night has 40(Xl))koku,
We can know that the amount of water that can be measured day
and night is 75(f&)keku,
However multiplying 10 means the sum of 60 (Xl)koku gnd 40 (l])koku,
Dividing 4 means that a night has 40(])koku,
Also, if there are 5(f&)koku gt 1 in the summer solstice, the answer is
50()koku,
At this time, we find out that 10 is multiplied and it's divided by 6.
You can know the answer any other month if you make
multiplication and division according as the number of the month.
We explain the system of 100(Zl)kkv day and night.
A thin bamboo 1s passed through the bucket or the box.
We connect it with it as steps.
We stand an arrow in the tube when all water enter.
We mark it gradations, and we divide a day and night by 12 (B)toki.
So, the day has 60(X*l))koku the night has 40(Xl)koku in the summer

solstice.
It is the beginning of “system of 100(Xl)koku day and night”.
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Yidhan Enolish translation
FORMULA it can use all months

The volume all day and night equal spring water times X times 10
division Y

X equal we want to know the volume of the month

Y equal the length of day and night caused by season

Illustration 1

At A.M. 1tk in the summer solstice, there are spring water.

It gush out 5koku,

From at A.M.1%©Kiin the summer solstice, you do 10inn4ki.

5 times 6 times 10 division 4 equals 75. The answer is 75koku,

10inn is 100koku (100koku js g day and night). Inn is multiplication.
Ki is division.

The following are the length of day and night caused by season.
The spring equinox

The length of day is 50koku, The length of night is 50koku,

The summer solstice

The length of day is 60 koku- The length of night is 40koku.

The autumn equinox

The length of day is 50 koku. The length of night is 50koku.

The winter solstice

The length of day is 40 koku. The length of night is 60koku.

In the case night, the length of day.

In the case day, the length of night, and it substitute for Y.

Illustration 2

At P.M. 1%k in the spring equinox, there are spring water.

It gush out 9koku,

From at P.M. 1%kiin the spring equinox, you do 10inn5ki.
9times 3 times 10 division 5 equals 54. The answer is 54koku,
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